CHAPTER 8 – 6e
Reporting and Analyzing Receivables

Study Objectives

1.
Identify the different types of receivables.

2.
Explain how accounts receivable are recognized in the accounts.

3.
Describe the methods used to account for bad debts.

4.
Compute the interest on notes receivable.

5.
Describe the entries to record the disposition of notes receivable.

6.
Explain the statement presentation of receivables.

7.
Describe the principles of sound accounts receivable management.

8.
Identify ratios to analyze a company’s receivables.

9.
Describe methods to accelerate the receipt of cash from receivables.
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ASSIGNMENT CHARACTERISTICS TABLE

	Problem
Number
	
	Description
	
	Difficulty
Level
	
	Time
Allotted (min.)

	
	
	
	
	
	
	

	1A
	
	Journalize transactions related to bad debts.
	
	Simple
	
	15–20

	
	
	
	
	
	
	

	2A
	
	Prepare journal entries related to bad debts expense, 
and compute ratios.
	
	Simple
	
	15–20

	
	
	
	
	
	
	

	3A
	
	Journalize transactions related to bad debts.
	
	Moderate
	
	20–30

	
	
	
	
	
	
	

	4A
	
	Compute bad debts amounts.
	
	Moderate
	
	20–25

	
	
	
	
	
	
	

	5A
	
	Journalize entries to record transactions related to bad debts.
	
	Moderate
	
	20–30

	
	
	
	
	
	
	

	6A
	
	Journalize various receivables transactions.
	
	Moderate
	
	40–50

	
	
	
	
	
	
	

	7A
	
	Explain the impact of transactions on ratios.
	
	Moderate
	
	20–30

	
	
	
	
	
	
	

	8A
	
	Prepare entries for various credit card and notes
receivable transactions.
	
	Complex
	
	50–60

	
	
	
	
	
	
	

	9A
	
	Calculate and interpret various ratios.
	
	Moderate
	
	10–15

	
	
	
	
	
	
	

	1B
	
	Journalize transactions related to bad debts.
	
	Simple
	
	15–20

	
	
	
	
	
	
	

	2B
	
	Prepare journal entries related to bad debts expense, 
and compute ratios.
	
	Simple
	
	15–20

	
	
	
	
	
	
	

	3B
	
	Journalize transactions related to bad debts.
	
	Moderate
	
	20–30

	
	
	
	
	
	
	

	4B
	
	Compute bad debts amounts.
	
	Moderate
	
	20–25

	
	
	
	
	
	
	

	5B
	
	Journalize entries to record transactions related to bad debts.
	
	Moderate
	
	20–30

	
	
	
	
	
	
	

	6B
	
	Journalize various receivables transactions.
	
	Moderate
	
	40–50

	
	
	
	
	
	
	

	7B
	
	Explain the impact of transactions on ratios; discuss
acceleration of receipt of cash from receivables.
	
	Moderate
	
	20–30

	
	
	
	
	
	
	

	8B
	
	Prepare entries for various credit card and notes receivable transactions.
	
	Complex
	
	50–60

	
	
	
	
	
	
	

	9B
	
	Calculate and interpret various ratios.
	
	Moderate
	
	10–15


ANSWERS TO QUESTIONS

 1.
Accounts receivable are amounts customers owe on account. They result from the sale of goods and services (i.e., in trade). Notes receivable represent claims that are evidenced by formal instruments of credit.

 2.
Other receivables include non-trade receivables such as interest receivable, loans to company officers, advances to employees, and income taxes refundable.
 3.
The essential features of the allowance method of accounting for bad debts are:


(1)
Uncollectible accounts receivable are estimated and matched against revenues in the same accounting period in which the revenues are recorded.


(2)
Estimated uncollectibles are debited to Bad Debts Expense and credited to Allowance for Doubtful Accounts through an adjusting entry at the end of each period.


(3)
Actual uncollectibles are debited to Allowance for Doubtful Accounts and credited to Accounts Receivable at the time the specific account is written off as uncollectible.

 4.
Tracy should realize that the decrease in cash realizable value occurs when estimated uncollectibles are recognized in an adjusting entry. The write-off of an uncollectible account reduces both accounts receivable and the allowance for doubtful accounts by the same amount. Thus, cash realizable value does not change.

 5.
The adjusting entry under the percentage of receivables basis is:


Bad Debts Expense

2,900



Allowance for Doubtful Accounts ($5,100 – $2,200)


2,900

 6.
Tootsie Roll reports two types of receivables on its balance sheet: Accounts receivable trade, and Other receivables. Since Tootsie Roll’s balance sheet reports allowance amounts for receivables, we know that Tootsie Roll uses the allowance method rather than the direct write-off method.

 7.
Under the direct write-off method, bad debt losses are not estimated and no allowance account is used. When an account is determined to be uncollectible, the loss is debited to Bad Debts Expense and credited to Accounts Receivable. The direct write-off method makes no attempt to match bad debts expense to revenues or to show the cash realizable value of the receivables in the balance sheet.

 8.
Offering credit usually results in an increase in sales because customers prefer to “buy now and pay later”. If a company decides to extend credit to customers, it should also establish credit standards to determine if a particular customer is credit worthy. Standards that are easily met can result in additional sales being made to customers that may not be able to meet the “tighter” credit policies of competitors. If such customers fail to pay, the additional sales revenue will be offset by higher collection costs and bad debts expense.

 9.
A promissory note gives the holder a stronger legal claim than one on an account receivable. As a result, it is easier to sell to another party. Promissory notes are negotiable instruments, which means they can be transferred to another party by endorsement. The holder of a promissory note also can earn interest.

10.
The maturity date of a promissory note may be stated in one of three ways: (1) on demand, 
(2) on a stated date, and (3) at the end of a stated period of time.

Questions Chapter 8 (Continued) 

11.
The missing amounts are: (a) $27,000, (b) 10%, (c) six months or 180 days, and (d) $7,200.

12.
When DeSousa Company has dishonored a note, the lender can renegotiate new terms for the receivable which is equal to the full amount of the note plus the interest due. It will then try to collect the balance due, or as much as possible. If there is no hope of collection, it will write-off the note receivable.

13.
Each of the major types of receivables should be identified in the balance sheet or in the notes 
to the financial statements. Both the gross amount of receivables and the allowance for doubtful 
accounts should be reported. If collectible within a year or the operating cycle, whichever is longer, these receivables are reported as current assets immediately below short-term investments. Notes receivables are usually listed before accounts receivable because notes are more easily converted to cash.

14.
The steps involved in receivables management are:


(1)
Determine to whom to extend credit.


(2)
Establish a payment period.


(3)
Monitor collections.


(4)
Evaluate the liquidity of receivables.


(5)
Accelerate cash receipts from receivables when necessary.

15.
A company can prepare an aging schedule to monitor collection success. An aging schedule provides information about the overall collection experience of a company and identifies problem accounts.
16.
A concentration of credit risk is a threat of nonpayment from either a single customer or class of customers that could adversely affect the company’s financial health.

17.
An increase in the current ratio normally indicates an improvement in short-term liquidity. This may not always be the case because the composition of current assets may vary. In order to determine if the increase is an improvement in financial health, other ratios that should be considered include: receivables turnover ratio and average collection period.
18.
An increase of more than 100% in the average collection period is probably caused by the adoption of looser credit standards. The new sales director may have increased sales by extending credit to customers that did not meet the company’s previous credit standards. Management should try 
to determine if the longer collection period jeopardizes the company’s overall financial position. 
It should compare its collection period to that of its competitors to determine if it is reasonable. It should also monitor collections to see if the additional sales are producing significant increases in costs associated with collection and bad debts. To reduce the average collection period, management might consider offering a sales discount to encourage customers to pay sooner.

19.
Net credit sales for the period are 9.05 X $3,424 = $30,987.2 million.


Average collection period in days = 365 days ÷ 9.05 = 40.3 days.

Questions Chapter 8 (Continued)

20.
From its own credit cards, the JC Penney Company may realize financing charges from cus​tomers who do not pay the balance due within a specified grace period. National credit cards offer the following advantages:


(1)
The credit card issuer makes the credit investigation of the customer.


(2)
The issuer maintains individual customer accounts.


(3)
The issuer undertakes the collection process and absorbs any losses from uncollectible accounts.


(4)
The retailer receives cash more quickly from the credit card issuer than it would from individual customers.

SOLUTIONS TO BRIEF EXERCISES

BRIEF EXERCISE 8-1

(a)
Other receivables.

(b)
Notes receivable.

(c)
Accounts receivable.

BRIEF EXERCISE 8-2

(a)
Accounts Receivable

23,000



Sales Revenue


23,000

(b)
Sales Returns and Allowances

2,400



Accounts Receivable


2,400

(c)
Cash ($20,600 – $412)

20,188


Sales Discounts ($20,600 X 2%)

412



Accounts Receivable ($23,000 – $2,400)


20,600

BRIEF EXERCISE 8-3

(a)
Allowance for Doubtful Accounts

4,300



Accounts Receivable


4,300

(b)

(1)
Before Write-Off
(2)
After Write-Off
Accounts receivable


$700,000


$695,700


Less:
Allowance for 



doubtful accounts


  25,000


  20,700

Cash realizable value


$675,000


$675,000
BRIEF EXERCISE 8-4

Accounts Receivable

4,300


Allowance for Doubtful Accounts


4,300

Cash

4,300


Accounts Receivable


4,300

BRIEF EXERCISE 8-5

(a)
Bad Debts Expense


   [($400,000 X 2%) – $2,800]

5,200




Allowance for Doubtful Accounts


5,200

(b)
Bad Debts Expense


   [($400,000 X 2%) + $900]

8,900




Allowance for Doubtful Accounts


8,900

BRIEF EXERCISE 8-6


Interest

Maturity Date
(a)
$800
August 9

(b)
$875
October 12

(c)
$200
July 11

BRIEF EXERCISE 8-7


Maturity Date
Annual Interest Rate
Total Interest

(a)
May 31
9%

$9,000

(b)
August 1
8%

$   600

(c)
September 7
10%

$6,000

BRIEF EXERCISE 8-8

Jan.
10
Accounts Receivable

8,000




Sales Revenue


8,000

Feb.
9
Notes Receivable

8,000



Accounts Receivable


8,000

BRIEF EXERCISE 8-9

(a)
Bad Debts Expense

18,000



Allowance for Doubtful Accounts


18,000

(b)
Current assets



Cash


$  90,000



Accounts receivable

$400,000



Less:  Allowance for doubtful accounts

    18,000
382,000



Inventory


180,000



Supplies


    13,000





$665,000

(c)
Receivables turnover ratio = 
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Average collection period = 
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The receivables turnover ratio is a liquidity measure. The average col​lection period indicates the effectiveness of a company’s credit and collection policies. To evaluate Ketter’s liquidity and credit policies, these measures should be compared to the same measures for competitors.

BRIEF EXERCISE 8-10

Receivables Turnover Ratio:
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Average Collection Period:
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BRIEF EXERCISE 8-11

(a)
Cash ($200 – $6)

194


Service Charge Expense ($200 X 3%)

6



Sales


200

(b)
Cash ($65,000 – $1,950)

63,050


Service Charge Expense ($65,000 X 3%)

1,950



Accounts Receivable


65,000

BRIEF EXERCISE 8-12

	Accounts Receivable

	Beg.
70,000 

Sales
598,000 
	 577,000
Collections

	End
91,000 
	


or

	Sales
	–
	Increase in Receivables
	=
	Cash Collections

	$598,000
	–
	($91,000 – $70,000)
	=
	$577,000


SOLUTIONS TO DO IT! REVIEW EXERCISES

DO IT! 8-1

The following entry should be prepared to bring the balance in the Allow​ance for Doubtful Accounts up from $5,700 credit to $21,700 credit (7% X $310,000):


Bad Debts Expense

16,000



Allowance for Doubtful Accounts


16,000



(To record estimate of uncollectible accounts)

DO IT! 8-2

The interest payable at maturity is $186:


Face X Rate X Time = Income


$6,200 X 9% X 4/12 = $186

The entry recorded by Gilliam Wholesalers at the maturity date is:

Cash

6,386



Notes Receivable


6,200



Interest Revenue


186



(To record collection of Perlman note)

DO IT! 8-3

	(a)
	Net credit sales
	÷
	Average net 
accounts receivable
	=
	Receivables turnover ratio

	
	$1,600,000
	÷
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	(b)
	Days in year
	÷
	Receivables turnover ratio
	=
	Average collection period in days

	
	365
	÷
	14.0 times
	=
	26.1 days


DO IT! 8-4

To speed up the collection of cash, Vesely sells $170,000 of its accounts receivable to a factor. Assuming the factor charges Vesely a 2% service charge, it would make the following entry:

Cash

166,600


Service Charge Expense

3,400



Accounts Receivable


170,000



(To record sale of receivables to factor)

SOLUTIONS TO EXERCISES

EXERCISE 8-2

Jan.
10
Accounts Receivable—Pitt

1,700




Sales Revenue


1,700

Feb. 12
Cash

1,100




Accounts Receivable—Pitt


1,100

Mar. 10
Accounts Receivable—Pitt

6




Interest Revenue




   [1% X ($1,700 – $1,100)]


6

EXERCISE 8-4

(a)
Dec. 31
Bad Debts Expense

900




Accounts Receivable—Baruth


900

(b)
Dec. 31
Bad Debts Expense

6,700




Allowance for Doubtful Accounts




   [($78,000 X 10%) – $1,100]


6,700

(c)
Dec. 31
Bad Debts Expense

6,740




Allowance for Doubtful Accounts




   [($78,000 X 8%) + $500]


6,740

EXERCISE 8-5

(a)
Accounts Receivable
Amount
  %  
Estimated Uncollectible

Current
$65,000
2
$1,300

1–30 days past due
12,900
5
645


31–90 days past due
10,100
30
3,030


Over 90 days past due
7,400
50
  3,700




$8,675

(b)
Mar. 31
Bad Debts Expense

6,575




Allowance for Doubtful Accounts




   ($8,675 – $2,100)


6,575

(c)
The total balance of receivables increased from 2011 to 2012. However, of concern is the fact that each of the three categories of older accounts increased substantially during 2012. That is, customers are taking longer to pay and bad debts are likely to increase. Management needs to inves​tigate the causes of this change.

EXERCISE 8-7

Nov.
1
Notes Receivable

60,000




Cash


60,000

Dec.
11
Notes Receivable

3,600




Sales Revenue


3,600


16
Notes Receivable

12,000




Accounts Receivable—M. Colvin


12,000


31
Interest Receivable

761




Interest Revenue*


761

*Calculation of interest revenue:


Akey’s note:
 $60,000
X 7% X 2/12     = $700


Mayrl’s note:
3,600
X 8% X 20/360 =     16


Colvin’s note:
12,000
X 9% X 15/360 =
     45


Total accrued interest

= $761
EXERCISE 8-9


KOPECKY CORP.


Balance Sheet (Partial)


October 31, 2012


(in thousands)

Receivables


Notes receivable

$1,353


Accounts receivable

2,910


Other receivables

     189


Total receivables


$4,452

Less:  Allowance for doubtful accounts


       52
Net receivables


$4,400
EXERCISE 8-10

(a)
2.
Reviewing company ratings in the Dun and Bradstreet Reference Book of American Business.
(b)
3.
Collecting information on competitors’ payment period policies.

(c)
4.
Preparing monthly accounts receivable aging schedule and investigating problem accounts.

(d)
5.
Calculating the receivables turnover ratio and average collection period.

(e)
1.
Selling receivables to a factor.

EXERCISE 8-12

(a)
At first glance it appears that Tym’s liquidity had deteriorated over the past year since the company’s current ratio has fallen from 1.5:1 to 1.3:1. However, it is taking the company less time to collect its accounts receiv​able as evidenced by the higher receivables turnover ratio. The company also appears to be moving its inventory more quickly as evidenced by the higher inventory turnover ratio. It is possible that the lower current ratio is due to the fact that with improved collections and inventory turnover, the company is carrying fewer current assets and not because the company’s liquidity has deteriorated.

(b)
Changes in the turnover ratios do not directly affect profitability. However, improvements in turnover generally indicate that the company is better able to convert sales to cash. Improved liquidity could allow the com​pany to better manage its cash flows and therefore, indirectly improve profitability.

(c)
There are several steps that Tym might have taken to improve its receivables and inventory turnover:


Receivables


-
The company could limit credit to only the best customers, however, this could negatively affect sales.


-
The company could initiate the use of a cash discount to encourage early payment of receivables.


-
The company could more aggressively monitor collections to encour​age customers to pay on time.

-
The company could sell its receivables to a factor to accelerate cash receipts.

EXERCISE 8-12 (Continued)


Inventory


-
The company could limit the amount of inventory by improving its purchasing relationships with suppliers. If inventory could be pur​chased more frequently, required inventory levels could be reduced.


-
Improvements in production processes could reduce the amount of work in process, thereby reducing inventory and improving the turn​over ratio.


-
Moving to a system whereby inventory is only produced as needed, will reduce the amount of finished goods inventory and improve the turnover ratio. However, there is some risk to this option as sales could be lost if stock-outs occur.

SOLUTIONS TO PROBLEMS

	PROBLEM 8-1A


(a)
Total estimated bad debts

	
	
	Number of Days Outstanding

	
	Total
	0–30
	31–60
	61–90
	91–120
	Over 120

	Accounts

receivable
	$377,000
	$222,000
	$90,000
	$38,000
	$15,000
	$12,000

	% uncollectible
	
	1%
	4%
	5%
	8%
	10%

	Estimated

bad debts
	$10,120
	$2,220
	$3,600
	$1,900
	$1,200
	$1,200


(b)
Bad Debts Expense

14,120



Allowance for Doubtful Accounts



   ($10,120 + $4,000)


14,120

(c)
Allowance for Doubtful Accounts

5,000



Accounts Receivable


5,000

(d)
Accounts Receivable

5,000



Allowance for Doubtful Accounts


5,000


Cash

5,000



Accounts Receivable


5,000

(e)
If Sellmore.com used 3% of total accounts receivable rather than aging the individual accounts the bad debt expense adjustment would be $15,310 [($377,000 X 3%) + $4,000].


Aging the individual accounts rather than applying a percentage to the total accounts receivable should produce a more accurate allowance account and bad debts expense.

	PROBLEM 8-2A


(a)
1.
Accounts Receivable

2,500,000




Sales Revenue


2,500,000


2.
Sales Returns and Allowances

50,000




Accounts Receivable


50,000


3.
Cash

2,200,000




Accounts Receivable


2,200,000


4.
Allowance for Doubtful Accounts

41,000




Accounts Receivable


41,000


5.
Accounts Receivable

15,000




Allowance for Doubtful Accounts


15,000



Cash

15,000




Accounts Receivable


15,000

(b)
Accounts Receivable
Allowance for Doubtful Accounts


Bal.
600,000
(2)
50,000
(4)
41,000
Bal.
37,000


(1)
2,500,000
(3)
2,200,000


(5)
15,000


(5)
15,000
(4)
41,000




(5)
15,000


Bal.
809,000




Bal.
11,000

(c)
Balance needed


$46,000


Balance before adjustment [See (b)]


 (11,000)


Adjustment required


$35,000

The journal entry would therefore be as follows:


Bad Debts Expense

35,000



Allowance for Doubtful Accounts


35,000

PROBLEM 8-2A (Continued)

(d)
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*$600,000 – $37,000


**$809,000 – $46,000


The average collection period is:
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	PROBLEM 8-4A


(a)
$37,000.

(b)
$30,600 [($840,000 X 4%) – $3,000].

(c)
$34,600 [(840,000 X 4%) + $1,000].

(d)
The are two major weaknesses with the direct write-off method. First, it does not match expenses with revenues. Second, the accounts receivable are not stated at cash realizable value at the balance sheet date.

	PROBLEM 8-7A


	
	


Transaction
	
Current Ratio
(2:1)
	
Receivables Turnover (10X)
	Average Collection Period 
(36.5 days)

	1.
	Recorded cash sale.
	I
	NE
	NE

	2.
	Recorded bad debts
   expense. Use allowance    method
	D
	I
	D

	3.
	Wrote off an account 
   receivable as    uncollectible. Use    allowance method
	NE
	NE
	NE

	4.
	Recorded sales on account.
	I
	D
	I


	PROBLEM 8-8A


(a)
July
5
Accounts Receivable

4,500





Sales Revenue


4,500



14
Cash ($600 – $18)

582




Service Charge Expense ($600 X 3%)

18





Sales Revenue


600



20
Cash 

6,120





Notes Receivable


6,000





Interest Revenue





   ($6,000 X 8% X 90/360)


120



24
Cash 

7,930





Notes Receivable


7,800





Interest Revenue





   ($7,800 X 10% X 60/360)


130



31
Interest Receivable 

50





Interest Revenue





   ($10,000 X 6% X 1/12)


50

(b)


Notes Receivable
Interest Receivable

7/1 Bal.
23,800
7/20
6,000
7/31
50




7/24
7,800


7/31 Bal.
10,000


7/31 Bal.
50


Accounts Receivable

7/5 
4,500


7/31 Bal.
4,500

PROBLEM 8-8A (Continued)

JANDER COMPANY

Balance Sheet (Partial)

July 31, 201X

(c)
Current assets



Notes receivable


$10,000



Accounts receivable


4,500



Interest receivable


50



Total receivables


$14,550
	PROBLEM 8-9A



Nike
Adidas



Receivables turnover ratio 
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a2,873.7 – 78.4


b2,994.7 – 110.8


c1,743 – 119


d1,553 – 124

Average collection period
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Both companies have very similar turnover ratios and average collection periods.
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